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Multiplication

Skill 4 - 6D
Multiplication Properties
O0x5=0 is an example to the Zero Property of Multiplication.
2x3=6 . . o
3x2=6 Is an example of the Commutative Property of Multiplication.
1x5=5 is an example of the Identity Property of Multiplication.
4x5=20

(4x3)+(4x2)=20 is an example of the Distributive Property of Multiplication.

4x3)x2=24
4x(3x2)=24 Is an example of the Associative Property of Multiplication.
Circle A or B.
1. O0x5=0 A. Identity Property B. Zero Property
2X3=6 o _
2. _ A. Distributive Property B. Commutative Property
3Xx2=6
3. 1x5=5 A. Identity Property B. Distributive Property
4x5 = 20 trilg it
A. Distributive L
4. (4x3)+(4x2) =20 Property B. Associative Property
(4x3)x2 =24 A. Commutative B. Associative Propert
4x(3x2)=24 Property ' perty
Circle A or B.
6. Zero Property A.1x5=5 B.0x5=0
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Skill 4 - 6D
Multiplication Properties
Circle A or B.
Commutative 2X3=6
7. Property 3%x2=6 B. 1x5=5
3 Associative 4x3)x2=24 B 2Xx3=6
" Property 4x(3x2)=24 3X2=6
Identity Propert 2x3=6 B
10. Associative Property (4x3)x2=24 B. 2x3=6
4x(38x2)=24 3x2=6
Commutative _ 2x3=6
11. Property 1x5=5 B. 3%2=6
12. Zero Property O0x5=0 B. 1x5=5
13. Distributive Property O0x5=0 B. 4x5=20
4x3)+(4x2)=20
14. Identity Property O0x5=0 B. 1x5=5
15 Distributive 2X3=6 B 4x5=20
" Property 3Xx2=6 " (4x3)+(4x2)=20
16. Zero Property Ox5=0 4x5=20
(4x3)+(@4x2)=20
17. ldentity Property (4x3)x2=24 B. 1x5=5
4x((B8x2)=24
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Skill 4 - 6D
Multiplication Properties
Circle A or B.
Commutative 2X3=6
18. Property A. 3x2=6 1x5=5
19. Zero Property A. 0x5=0 B. 1x5=5
20. Associative Property A (4x3)x2=24 2Xx3=6
4x(3x2)=24 3x2=6
C 4x5=20
Distributive Propert A. =
21. perty (4x3)+(4x2) =20 O0x5=0
Identity Propert 2x3=6 =
22. y Froperty A. 3%2=6 1x5=5
23 Associative A 4x3)x2=24 2Xx3=6
" Property " 4x((3x2)=24 3X2=6
Commutative 2xXx3=6
24. property A. 3x2=6 1x5=5
- 4x3)x2=24
25. ldentity Property A. ( 1x5=5
4x(3x2)=24
06, Distributive A 2X3=6 4x5=20
" Property 3x2=6 4x3)+(@4x2)=20
Associative _ (4x3)x2=24
21 Property A. 0x5=0 4x(3x2)=24
28. Zero Property A. 0x5=0 B. 1x5=5
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1. B. Zero Property 2.
4. A. Distributive Property 5.
Page 2

7. A 8.
10. A. 11.
13. B. 14.
16. A. 17.
Page 3

18. A. 19.
21. A 22.
24. A 25.
27. B. 28

Answer Key
Skill 4 - 6D

B. Commutative Property

B. Associative Property

B.

A.

12.

15.

20.

23.

26.

A. Identity Property

B.Ox5=0
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